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Class – XII

Computer Science (083)
Time allowed : 3 hours






Maximum Marks : 70

Instructions:

(i) All questions are compulsory 

(ii) Programming Language : C++

1 (a)
What is copy constructor? What do you understand by constructor overloading?
2 

 (b)
Name the header file to which following belog:




2


(i) abs()
(ii) isalnum()
(iii) strcmpi()
(iv) tolower()

(c)
What do you mean by abstraction and polymorphism in OOP?


2 

(d)
Give the output of the following program code:-




2


#include<iostream.h>


int global = 10;


void func(int &x, int y)


{


x=x-y;y=x*10;


cout<<x << ‘ , ‘<<y<<’\n’;


}


void main()


{



int global=7;



func(::global,global);



cout<<global<<’ , ‘ <<::global<<’\n’;



func(global, ::global);



cout<<global<<’ , ‘ <<::global<<’\n’;


}


  (e)
Write the output of the following program:-





2


#include<iostream.h>


int Execute(int M)


{



if(M%3 == 0)




 return M*3;



else




return M+10;


}

(2)


void output(int B=2)


{



for(int T=0;T<B;T++)



  cout<<Execute(T)<<”*”;



cout<<endl;


}


void main()


{


output(4);


output();


output(3);


}

2 (a)
Observe the following program SCORE.CPP carefully, if the value of Num entered

by the user is 5, choose the correct possible output(s) from the options from (i) to

(iv), and justify your option. 








1


#include<stdlib.h>

#include<iostream.h>

void main()

{

randomize ();

int Num, Rndnum;

cin>>Num;

Rndnum = random (Num) + 5;

for (int N = 1; N<=Rndnum; N++)

cout<<N<<" ";

}

(b) Define the term Inline and Friend function in OOP context. Also specify its use in programming. 

2

 (c)
Answer the question (i) and (ii) after going through the following program


2


class Match


{


 int Time;


 public:



Match() //Function  1



{



Time = 0;



cout<<”\nMatch commences :”<<endl;



}



(3)


void details() //Function 2



{



cout<<”\nInter section basketball match”<<endl;



}



Match(int Duration ) //Function 3



{



Time = Duration;



cout<<”Another match begins now”<<endl;




}



Match(Match &M) //function 4



{



  Time = M.Time;



  cout<<”Like previous match ”<<endl;




}


};

(i) Which category of function –4 belongs to and what is the purpose of using it?

(ii) Write statement that would call the member function 1 & 3.

(d) Observe the program segment given below carefully and fill the blanks marked as statement 1 and statement 2 using seekg() and tellg() functions for performing the required task:
1

#include<fstream.h>

class employee

{

 int Eno; char Ename[20];

public:


//Function to count the total number of record


int countrec();

};

int employee :: countrec()

{


employee item;

fstream file;


file.open(“EMP.DAT”,ios::binary|ios::in);


------------------------//statement 1


int  Bytes = -------------------- //statement 2


int count = Bytes / sizeof(item);


file.close();


return count;

}
 



(4)

  (e)
Find the output of the following program






3


#include<iostream.h>


void change(int Ar[] , int count)


{


for(int C=1;C<count;C++)


Ar[C-1] += Ar[C]; 


}

void main()

{

int A[] = {3,4,5}, B[] = {10,20,30,40}, C[] = {900,1200};

change(A,3);

change(B,4);

change(C,2);

for(int L=0;L<3L++)

cout<<A[L]<<’#’;

cout<<endl;

for(L=0;L<4L++)

cout<<B[L]<<’#’;

cout<<endl;

for(L=0;L<2L++)

cout<<C[L]<<’#’;

cout<<endl;

}

3(a)
Write a user define function in C++ to read the contents from a text file STORY.TXT, count and 

display the number of alphabets present in it. 





2

  (b)
Define a class book with the following specification 




3


BOOK_NO

integer type


BOOK_TITLE
20 character 


PRICE


float 


TOTAL_COST()
A function to calculate total cost of N number of books, where N is passed 

as argument 



public members of the books are



A constructor to initialize the data of the class



INPUT()

To read BOOK_NO,BOOK_TITLE and PRICE



PURCHASE()

To ask the user to input number of copies to be purchased. It 

invokes the TOTAL_COST() and print the total cost to be paid by the user.



(c)
Assuming a binary file JOKES.DAT is containing objects belonging to a class JOKE (as defined below). Write a user defined function in C++ to add more objects belonging to the class JOKE at the bottom of it.









2   

(5)


class JOKE


{


int jokeid;


char type[5]


char jokedesc[100];

public:


void newjokeentry()


{


cin>>jokeid;gets(type);gets(jokedesc);


}


void showjoke()


{


cout<jokeid<<’:’<<type<<endl<<jokedesc<<endl;


}

};

  (d)
Consider the following and answer the questions given below :



4


class MNC

{

 char cname[25];

 protected:


char Hoffice[25];

public:


MNC();


char country[25];


void EnterData();


void DisplayData();

};

class Branch : private MNC

{

 long NOE;

char city[25];

protected:


void Association();

public:


Branch();


void Add();


void Show();

};

class outlet : public Branch

{

  char state[25];

(6)

 public:


outlet();


void Enter();


void output();


};

(i) Which class’s constructor will be called first at the time of declaration of an object of class outlet?  

(ii) How many bytes an object belonging to class outlet require?

(iii) Name the member function (s), which are accessible with the object of class outlet.

(iv) Name the data member (s), which are accessible from the object of class member function of branch.

4(a)
An array A[5][25] is stored in the memory with each element requiring 4 bytes of 

storage. If the base address of array in the memory is 1000, determine the location of A[5][7] when the array is stored as (i) RMO (ii) CMO.  



3


(b)
Evaluate the following postfix notation of expression 



2



20   10  +  5   2 *  - 10 /


(c)
Write a function to sort a array containg N integer number using bubble sort.
2

(d)
Write a function to perform a PUSH operation in a dynamically allocated stack considering the following: 







3


struct Node


{


int X,Y;


Node *Link;


};


class STACK


{



Node *Top;


public:



STACK() { Top = NULL}



void PUSH();



void  POP();



~STACK();


};

(e)
Write a program to insert or delete a element from the queue (implemented with array) as per the user choice.








3

(f)
Considering the following key set : 42, 29, 74, 11, 65, 58, user insertion sort to sort the data in ascending order and indicate the sequences of steps required.

2 

(g)
What is circular queue and Dqueue?






1 

(7)

5(a)
What do you understand by temp Primary Key and Candidates Key?

2

(b)
Write a SQL commands for (a) to (f) and write the output for (g)  on the basis of table FURNITURE and ARRIVALS






6

Table : FURNITURE

	NO
	ITEMNAME
	TYPE
	DATEOFSTOCK
	PRICE
	DISCOUNT

	1
	White lotus 
	Double Bed
	23/02/02
	30000
	25

	2
	Pink feather
	Baby cot
	20/01/02
	  7000
	20

	3
	Dolphin
	Baby cot
	19/02/02
	  9500
	20

	4
	Decent
	Office Table
	01/01/02
	25000
	30

	5
	Comfort Zone
	Double Bed
	12/01/02
	25000
	25

	6
	Donald
	Baby cot
	24/02/02
	  6500
	15

	7
	Royal Finish
	Office Table
	20/02/02
	18000
	30

	8
	Royal tiger
	Sofa
	22/02/02
	31000
	30

	9
	Econo sitting
	Sofa
	13/12/01
	  9500
	25

	10
	Eating Paradise
	Dining table
	19/02/02
	11500
	25


Table : ARRIVALS

	NO
	ITEMNAME
	TYPE
	DATEOFSTOCK
	PRICE
	DISCOUNT

	11
	Wood Comfort
	Double Bed
	23/03/03
	25000
	25

	12
	Old fox
	Sofa
	20/02/03
	17000
	20

	13
	Micky
	Baby cot
	21/02/03
	  7500
	15


(i) To show all information about the Baby cot from the FURNITURE table.

(ii) To list the ITEMNAME which are priced at more than 15000 from the FURNITURE table

(iii) To list ITEMANME and TYPE of those items, in which DATEOFSOTCK  is before 22/01/02 from FURNITURE table in descending order of ITEMNAME

(iv) To display ITEMANME and DATEOFSTOCK of those items, in which the discount percentage is more than 25 from FURNITURE table

(v) To count the number of items, whose TYPE is “sofa” from FURNITURE table

(vi) To inset a new row in the ARRIVALS table with the following data

14, ‘vovlet touch’, ‘Double Bed’ , {25/03/03’,25000,30  




(viii)
Give the output of the following SQL statement 

Note:- Output of the below mentioned queries should be based on original data given in both the tables. i.e without considering the insertion done in (g) part of this question:-

(i) SELECT COUNT (Distinct TYPE) FROM FURNITURE;

(ii) SELECT MAX(DISCOUNT) FROM FURNITURE, ARRIVALS;

(iii) SELECT AVG(DISCOUNT) from FURNITURE where TYEP=’Baby cot’;

(8)

(iv) Select SUM(PRICE) FROM FURNITURE WHERE DATEOFSTOCK<{12/02/02};

6(a)
State and verify the DeMorgan’s Law in Boolean algebra.




2 

  (b)
Write the equivalent Boolean Expression for the following logic circuit:-


1

(c)
Write the POS and SOP form of a Boolean function F, which is represented by the following truth table:- 










1

	X
	Y
	Z
	F

	0
	0
	0
	1

	0
	0
	1
	1

	0
	1
	0
	0

	0
	1
	1
	1

	1
	0
	0
	0

	1
	0
	1
	1

	1
	1
	0
	0

	1
	1
	1
	0


(d)
Reduce the following Boolean expression using K-Map:




3


F(A,B,C,D)
=
((0,1,2,3,4,5,10,11,15)

(e) 
Design a circuit for the Boolean expression (A’ + B’ + C’) (A + B’ + C’) (A + B + C’) 
1

         
using NOR to NOR logic.

7(a)
Compare Twisted pair and coaxial transmission media. 




1

  (b)
Expand the following terminology 







1

(i) XML

(ii) URL
(iii) GSM
(iv) CDMA
(v) TCP/IP
(vi) HTTP



  (c)
What is Cyber Law? Also define the Job of Hackers and Crackers.



2 

  (d)
Write two difference of LAN & WAN.






1

  (e)
Define Baud and Bandwidth in networking. 






1

  (f)
Write two difference between Bus and Star topology.




1 

  (g)
What is a Web Server?








1

Please check that question paper contains 08 printed pages.


Please check that this question paper contains 7 questions.


  





(i) 1 2 3


(ii) 1 2 3 4 5 6 7 8 9 10 11 


(iii) 1 2 3 4 5


(iv) 1 2 3 4
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